
rfn' cfly{s jif{ @)&!÷&@ sf] :jLs[t cfDbfgL vr{sf] ljj/0f 

s_ rfn' cfly{s jif{ )&!÷&@ sf] s"n :jLs[t ah]6M 

qm=;+= ljj/0f k"Flhut rfn' vr{ s"n ?= s}lkmot 

)! 

g]kfn 

;/sf/ 

cg'bfg 

3,69,60,000.– 
 

54,90,000.–  

$,@$,%),))).–  

)@ 
cfGtl/s 

;|f]t 
*,@#,^)).– !@,#%,$)).– @),%(,))).–  

hDdf ?= #,&&,*#,^)).– ^&,@%,$)).– $,$%,)())).–  

 v_ rfn' cly{s jif{ )&!÷&@ sf] :jLs[t cfDbfgLsf] ljj/0fM 

!=g]kfn ;/sf/ cg'bfgM 

l;=g+

= 
ljj/0f /sd s}lkmot 

1 
g]]kfn ;/sf/ lgzt{ k"Flhut 

cg'bfg 13,840,000.00  

2 
g]]kfn ;/sf/ ;zt{ k"lhut 

cg'bfg   

s bdsn vl/b 6,000,000.00  

v ejg lgdf{0f 10,000,000.00  

u ;jf/L ;fwg vl/b 2,500,000.00  

3 kmlg{r/ 600,000.00  



ª d]l;g/L cf}hf/ 900,000.00   

r 
Jos xf]÷nf]8/÷;S;g 

d]lzg÷l6k/ vl/b 3,120,000.00   

k"Flhut tkm{sf] hDdf ?= 

 

36,960,000.0

0   

3 rfn' vr{ cg'bfg 4,600,000.00   

s 
gu/:t/Lo oftoft u'? 

of]hgf tof/L 890,000.00   

rfn' vr{ tkm{sf] hDdf ?= 5,490,000.00   

s'n  ?= 4,409,000.00   



@=cfGt/Ls >]ftM  

l;=g+= ljj/0f /sd s}lkmot 

1 Joj;fo btf{ tyf gljs/0f 

b:t'/ 
70,000.00    

2 l;kmfl/; b:t'/ 130,000.00    

3 gftf k|dfl0ft b:t'/ 150,000.00    

4 3/ gSzf b:t'/ 50,000.00    

5 dfnkf]t b:t'/ 200,000.00    

6 xf6 ahf/ s/ 260,000.00    

7 xn tyf k|f]h]S6/ ef8f 30,000.00    

8 uf];vfg 95,000.00    

9 rn crn ;DklQ, cfo ;|f]t 

d"Nof+sg z'Ns 
50,000.00  

  

10 ef8f 24,000.00    

11 3/ jxfn s/ 50,000.00    

12 /fhZj jf8kmf8 950,000.00    



  hDdf ?= 

  

2,059,000.00    

u=rfn' cfly{s jif{ )&!.&@ sf] vr{sf] :jLs[t ljlgof]hgM  

!=rfn' vr{ -;/sf/L cg'bfg_  

l;=g+

= 

vr{ lzif{s gfd vr{ lzif{s 

g+= 

aflif{s ljlgof]hg 

1 Tnj 21111 2,550,000.00  

2 dx+uL eQf 21113 72,000.00  

3 cGo eQf 21119 100,000.00  

4 :yflgo eQf 21112 62,000.00  

5 kf]zfs 21121 45,000.00  

6 kfgL tyf ljh'nL 22111 28,500.00  

7 ;+rf/ dx;'n 22112 60,000.00  

8 3/ef8f 22121 137,500.00  

9 ;+rfng tyf dd{t ;+ef/ 22212 100,000.00  

10 ladf lk|ldod 22213 100,000.00  



11 sfof{no ;DalGw vr{ 22311   

270,000.00  

12 O{Gwg cGo k|of]hg 22314 200,000.00  

13 ;]jf / k/fdz{ -;km6jo]/ 

h8fg vr{x?_ 

22411 350,000.00  

14 sfo{{s|d ;DaGwL vr{x? 22500 215,000.00  

15 cg'udg d"Nof+sg vr{ 22611 150,000.00  

16 e|d0f vr{ - ;?jf _ 22612 60,000.00  

16 lalaw vr{ - gu/ kl/ifb vr{ 

_ 

22711 100,000.00  

17 gu/:t/Lo oftfoft u'?of]hgf 

tof/L vr{ 
  890,000.00  

  hDdf    5,490,000.0

0 

  



@=cfGtl/s ;|f]ttkm{sf] rfn' vr{M 

l;=g+= vr{ lzif{s gfd 
vr{ lzif{s 

g+= 
aflif{s ljlgof]hg 

1 lkmN8 eQf 21114 60,000.00  

2 kfgL tyf ljh'nL 22111 12,000.00  

3 ;+rf/ dx;'n 22112 12,000.00  

4 kf]zfs 21121 30,000.00  

5 hUuf ef8f 22121 50,000.00  

6 ;+rfng tyf dd{t ;+ef/ 22212 50,000.00  

7 sfof{no ;DaGwL vr{ 22311 155,000.00  

8 O{Gwg cGo k|of]hg 22314 46,400.00  

9 ;]jf / k/fdz{ vr{ 22411 50,000.00  

10 cGo ;]jf z'Ns 22412 100,000.00  

11 sfo{s|d ;DaGwL vr{x? 22500 50,000.00  

12 cg'udg d"Nof+sg vr{ 22611 100,000.00  



13 
ljljw vr{ - ;ef j}7s tyf 

kl/ifb\_ 
22711 150,000.00  

14 
ejg lgdf{0f dfkb08 nufot 

cGo ljlgodx? Joj:yfkg 

vr{ 

22711 100,000.00  

15 sd{rf/L k|f];fxg vr{   270,000.00  

  
hDdf    

 

1,235,400.00  

3=kF"hLut cg'bfg tkm{sf] :jLs[t ljlgof]hg  

!=;/sf/L cg'bfgtkm{M 

s_ ;dk"/s sf]if -nfut ;fem]]bf/Ldf ul/g] sfo{_ 

qm=;+= of]hgf sfo{qmdsf] gfd ljlgof]hg ?= s}lkmot 

1 zD;]/ bn u0f 9n lgdf0f{ cg'bfg 150000.00   

2 cf]vn9'ª\uf lgz+v] ;8ssf] Ifltu|:t 

e"efu d{dt 

50000.00   

3 l;l4r/0f kfs{ lgdf0f{  200000.00   

4 ?Dhf6f/ xf6 jhf/ Joj:yfkg jf8{ 

g+=!# 

100000.00   

5 ?Dhf6f/ ljdfg:yn k|ltIffno lgdf{0f 

jf8{ g+=!# 
180000.00   



6 rDkf b]lj dlGb/ ;+/If0f ;Nn]/L jf8{ 

g+=( 
50000.00   

7 bzgfdL ;dfh lhsf;nfO{ kmlg{r/ 

vl/b jf8{ g+=@ 

50000.00   

8 /dfO{nf]8fF8fjf6 xfl6ofFIf]q cfpg] 

;8ssf] ;fNd]vf]l/of v08df d/dt 

jf8{ g++=% 

30000.00   

9 lh=k|=sf=d'gLsf] klx/f] lgo0q0fsf] 

nflu jfF; vl/b  
28000.00   

10 lhNnf k|zf;g sfof{no d'gLsf] klx/f] 

lgogq0fsf] nflu nufO{g] Uofljg jfn 

lgdf{0f 

25000.00   

11 lhNnf k|x/L sfof{nosf] k|tLIffno 

lgdf{0f 

100000.00   

  hDdf 963000.00   

v_ nlIft ;d"x ljsf; sfo{qmd  

!_ ;j} hfthfltsf ljkGg dlxnf nlIft of]hgf sfo{qmd 

qm=

;+= 
of]hgf sfo{qmdsf] gfd ljlgof]hg ?= s}lkmot 

1 
jly{ª\ ;]G6/ Joj:yfkg jf8{ 

g+=!) / !! 100000.00   

2 
dlxnf pb\3f]if0f tflnd jf8{ 

g+=!# 50000.00   



3 
dlxnfsf] sfg'gL xs tfnLd 

jf8{ g+=!@ 50000.00   

4 
cfdf ;d'xnfO{ n]vf 

Joj:yfkg tflnd gu/If]q 150000.00   

5 
dlxnf :jod ;]ljsfx?nfO{ 

;sf/fTds ;f]r tflnd gu/ 

If]q 
150000.00 

  

6 
w'Fjf /lxt r'nf] lgdf{0f 

cleofg jf8{ g+=#,*/ ( 150000.00   

7 
cfdf ;d'x sf];]nL e]6 

sfo{s|d gu/ If]q 234000.00   

8 
cfdf ;d'xnfO{ d}g jlQ 

agfpg] ;Lkd'ns tflnd jf8{ 

g+=! / @ 
100000.00   

9 
dlxnf ;zlQms/0f tfnLd 

jf8{ g+=^ 53700.00   

10 
cfdf ;d"xsf 

kbflwsf/Lx?nfO{ n]vf 

Joj:yfkg tfnLd jf8{ g+=& 
50000.00   

11 
PsLs[t ;fd'bflos ejg 

lgdf{0f jf8{ g+=% 200000.00   

hDdf ?= 1287700.00   

=@=;j} hfltsf ljkGg ju{sf jfnjflnsf nlIft of]hgf sfo{qmdM 



qm=

;+= 
of]hgf sfo{qmdsf] gfd ljlgof]hg ?= s}lkmot 

1 
hfnkf df=lj= u}/LufpF kmlg{r/ 

jf8{ g+=# 

100000.00 
  

2 
l;+xb]jL kf|=lj=r'Kn' 3]/fjf/ 

jf8{ g+=@ 

100000.00 
  

3 
cGt//fli6«o o'jfjif{ 

k|f=lj=zf}rfno lgdf{0f jf8{ 

g+=$ 

50000.00 
  

4 jfn dlGb/ k|f=lj=sf] ‰ofn9f]sf 

d{dt jf8{ g++ $  
50000.00   

5 jf8{ g+=% sf] afn SnjnfO{ 

v]ns"b ;fdfu|L vl/b / 

;=h=p=df=lj=sf] lzz'sIff 

Joj:yfkg jf8{ g+=% 

100000.00 %)÷%) 

xhf/  

6 
s'Gtf df=lj=Hofld/]sf] ejg 

d/dt jf8{ g+=^ 

100000.00 
  

7 
jfn ljsf; s]Gb| ejg lgdf{0f 

jf8{ g+=& 

100000.00 
  

8 rDkfb]jL df=lj=;Nn]/L ejg 

d/dt jf8{ g+=* 

100000.00 
  

9 sflnsfb]]jL k|f=lj=;Nn]/L ejg 

d/dt jf8{ g+=( 

100000.00 
  



10 
gf/fo0f:yfg df=lj=3]/fjf/ 

jf8{ g+=!! 

100000.00 
  

11 
jfnljsf; k|f=lj=cw]/L kmlg{r/ 

jf8{ g+=!) 

87700.00 
  

12 
sflnsf k||f=lj=sf] v]n d}bfg 

lgdf{0f jf8{ g+=!@ 

100000.00   

13 eujlt k|f=lj=jfn sIff ejg 

lgdf{0f jf8{ g+=!# 

100000.00 
  

14 l;4b]lj k|=lj=3]/fjf/ jf8{ g+=! 50000.00   

15 /fHo nIdL df=lj=k':tsfno 

:yfkgf jf8{ g+=!! 

50000.00   

hDdf ?= 1287700.00   

#_ cfly{s ;fdflhs ?kdf lk5l8Psf cfbLjf;L hghflt,blnt ckfª\utf 

ePsf JolQm tyf Ho]i7 gful/sM  

qm=

;+= 
of]hgf sfo{qmdsf] gfd ljlgof]hg ?= s}lkmot 

1 gu/If]qsf Ho]i7td 

gful/sx?sf] ;Ddfg  

200000.00   

2 lhNnf cfbLjf;L hghflt 

ejg lgdf{0f jf8{ g+=% 
700000.00   

4 blnt 6f]nsf] ;fd'bflos ejg 

9nfg jf8{ g+= !! 
90000.00   



5 aly{ª\ ;]06/ ;fdfu|L vl/b 

jf8{ g+=!@ 

100000.00   

6 blnt hghfltx?sf nflu 

nf]s;]jf cfof]u tof/L sIff-

gu/If]q_ 

200000.00   

7 gful/s ;r]tgf s]Gb| ejg 

lgdf{0f jf8{ g+=! 

70000.00   

8 leGg Ifdtf ePsf 

JolQmx?sf nflu ;Lkd"ns 

tfnLd jf8{ g+=@ 

50000.00   

9 blnt ;fd'bflos ejg 

sDkfp08 jf8{ g+=$ 

70000.00   

10 du/ u'7L ejg lgdf{0f 

j]y'vs{ jf8{ g+=& 

70000.00   

11 /fO{, tfdfª, u'?ª / g]jf/ 

;:s[lt e]ife'iff vl/b j8f 

g+= * 

70000.00   

12 ckfË xslxt cIfo sf]if 

:yfkgf j8f g+= ( 

75550.00   

13 kfl/kw]/f] l;ddf s[ofk"qL 

ejg lgdf{0f jf8{ g+=# 
70000.00   

14 hghftL efiff ;:s[lt ;+/If0f 

sfo{qmd j8f g+=!# 

70000.00   



15 blnt ;fd'bflos ejg 

lgdf{0f jf8{ g+=% 

70000.00   

16 lhNnf :t/Lo nfv]hfqf 

dxf]T;j w/fgdf efu lng 

hfgsf] nflu cf]vn9'ª\uf o'jf 

SnjnfO{ cg'bfg jf8{ g+=$ / 

% 

26000.00   

  hDdf ?= 1931550.00   

nlIft ;d"xtkm{sf] hDdf ?= 

4506950.0
0  

$_ cfly{s ;fdflhs tyf ef}lts k'jf{wf/ ljsf; 

qm=

;+= 
of]hgf sfo{qmdsf] gfd ljlgof]hg ?= s}lkmot 

1 cf]vn9'ª\uf lh/f] KjfOG6jf6 

?Dhf6f/ hfg] ;8s  ;''wf/ 
600000.00   

2 ldngrf]sb]lv gf/f0f:yfg x'Fb} 

gu/kflnsf l;dfgf;Ddsf] 

;8s ;'wf/  

100000.00   

3 ldngrf]s nfld:jlt 

:jKgfjtL x'Fb} ?Dhf6f/ hfg] 

;8s 

200000.00   

4 ;fljs Hofld/]sf] efn'vf]kb]lv 

;fljs Hofld/] sf]  !,@,#,%,^/ 

&  vf]bDkf hf]8g] ;8s 

xfnsf] jf8{ g+=%,^ / & ;'wf/ 

500000.00   



5 lh/f] KjfOG6b]lv k]zn vqLsf] 

3/ x'Fb} ;+;f/L8fF8f uf]ljGb 

kmlg{r/ cuf8Ljf6 xfnsf] 

gu/kflnsf sfof{no ;Dd / 

jf8{ g+=$ l:yt gf/fo0f 

/fhe08f/Lsf] 3/ cuf8Ljf6 

k|x/L sfof{no hfg] ;8ssf]  

jfFsL 9nfg sfo{ - lk=l;=l;= 

tyf kvf{n lgdf{0f_ jf8{ 

g+=#,$ / % 

600000.00   

6 led;]g:yfgjf6 ljKnfF6] hfg] 

;8s jf8{ # g+= 
300000.00   

7 ;Nn]/Lsf] s'jfkfgLb]lv  

l/lkgL;Ddsf] ;8s jf8{ 

g+=$,* / ( 

300000.00   

8 ;Nn]/L h/+u]b]lv 8fF8fupF x'b} 

tfdfª\6f]n hfg] ;8s  
100000.00   

9 l;dn8fF8fjf6 uf]u'g] x'b} 

lnk]vf]nf hfg] ;8s jf8{ 

g+=jf8{ g+=% 

300000.00   

10 jgf{n'sf] dflyNnf] 9'ª\u|]jf6 

/]8qm; pkzfvf hfg] df]6/ 

;8s jf8{ g+=@ 

200000.00   

11 cfxfn8fF8f ?D6L xF'b} 

ljdfg:yn hfg] ;8s jf8{ 

g+=jf8{ g+=$ 

200000.00   

12 ldngrf]s cf]v/jf]6 nfFs'/L 

e~Hofª x'Fb} cw]/L ;8s 100000.00 
100000.

00 



13 jgf{n' rf]sjf6 nfn' lxn] x'Fb} 

u}/L hfg] ;8ssf] gu/ 

l;dfgf;Ddsf]] e"efu 

200000.00   

hDdf ?= 

3700000.0
0 3700000 

v j;kfs{ lgdf{0f  300000.00   

u 9n lgdf{0f M     

1 cfdL{ SofDkaf6 e}/a dGbL/ 

x'b} cfpg] en rGbg] 

vf]nftkm{ hfg] 9n lgdf{0f . 

200000.00   

2 lhNnf k|zf;g sfof{no b]lv 

jf8{ g+= $ xfnsf] njs'z 

xf]6n ;Ddsf] 9n lgdf{0f . 

150000.00   

3 jf8{ g+= % sf] v]ns'b 

d}bfgjf6 lg:sg] en lgsf;f 

9n lgdf{0f 

200000.00   

4 u'?wfdrf]s– 7"nf] l9s ;Dd 

9n lgdf{0f jf8{ g+= !@ / !#  
250000.00   

hDDff ?= 800000.00   

3 l;+rfO{     

1 
dfg]v]t l;+rfO{ s"nf] d/dt 

jf8{ g+=@ 
70000.00   



2 
l/lkgL x'Fb} hfg] d"ns'nf] 

lgdf{0f 
65000.00   

3 ;fpg] vf]nfaf6 d'xfg u/L 

;fljs jf8{ g+=^ xfn & 

a:tLdf kf]v/L lgdf{0f . 

65000.00 
  

hDdf ?= 200000.00   

ª vfg]kfgL     

1 
e8f/] blnt j:tL vfg]kfgL 

lgdf{0f 
30000.00   

2 
;fpg] vf]nfaf6 d'xfg 

vfg]kfgL of]hgf Hofld/] 
30000.00   

3 
l;dkw]/f u}/LufpF vfg]kfgL 

d/dt 
140000.00   

hDdf ?= 200000.00   

s'n ?= 

5200000.0
0   

%_ k|j4{gfTds of]hgf tyf sfo{qmdM   

qm=

;+= 
of]hgf sfo{qmdsf] gfd ljlgof]hg ?= s}lkmot 



1 v'Nnf lb;fd'Qm If]q 3f]if0ff 

sfo{qmd jf8{ g+= !@ / !# 
250000.00   

2 jftf/0fd}qL :yfgLo zf;g 

k|f?k sfof{Gjog 
200000.00   

3 e8f/] blnt 6f]n ljB't 

lj:tf/ 
50000.00   

4 sd]/] cf]v|] ljB't lj:tf/ jf8{ 

g+=# 
25000.00   

5 PsLs[t ;fd'bflos ejg 

lgdf{0f jf8{ g+=!# ?Dhf6f/ 
200000.00   

6 jflif{s of]hgf tof/L 

@)&!÷)&@ 
125000.00   

7 jflif{s of]hgf tof/L 

@)&@÷)&# 
125000.00   

8 
gu/ k|f]kmfon tof/L  

200000.00   

9 s[i0f dlGb/jf6 g=kf= sfof{no 

cfpg] df]6/af6f] 
156000.00   

10 cf]vn9'ª\uf xf6 jhf/ d/dt 

;'wf/ 
500000.00   

11 sfof{nosf] :6f]/ tyf 

k|ltIffno lgdf{0f 
558914.00   

12 hfnkf dlGb/jf6 /fdjfhf/ 

cfpg] ;8s d{dt 
142871.00   

13 cf]vn9'ª\uf ?Dhf6f/ ;8s 

d/dt 
120215.00   



14 l5kl5k] d'gnfO{6 ;fd'bflos 

:jf:Yo s]Gb|;Ddsf] ;8s 

;'wf/ 

67050.00 
  

15 Jofj;flos s/bftf lzIff 

sfo{s|d 
200000.00   

16 :yfgLo Pkm=Pd=dfkm{t 

g=kf=sf] ;""rgf k|;f/0f  
50000.00   

17 kmnkm'n tyf t/sf/L v]tL 

j8f g+=% uf]u'g] l;tnk'/ 
50000.00   

18 Rop v]lt / 6g]nsf] nflu 

;d"xut cg'bfg jf8{ g+=( 

nunu] 

50000.00 
  

19 t/sf/L v]tL ;d"xut cg'bfg 

jf8{ g+=!),!! -gf=;=s=dfkm{t_ 
50000.00   

20  j]df};dL v]ltsf] nflu 6g]n 

/ ljp ljhg ;d"xut cg'bfg 

jf8{ g+=# 

50000.00 
  

hDdf ?= 

3170050.0
0   

k"Flhut tkm{sf] hDdf ?= 

13840000.
00   

^=cfGtl/s ;|f]ttkm{sf] kF"hLut ljlgof]hgM 

qm=

;+= 
of]hgf sfo{qmdsf] gfd ljlgof]hg ?= s}lkmot 



1 pBf]u jfl0fHo ;+3 ejgsf] 

k|j]zåf/ lgdf{0f 
100000.00 

  

2 pTs[i6 s/bftfnfO{ ;Ddfg 

sfo{qmd 
30000.00 

  

3 
;fdflhs ;'/Iff eQf k|fKt 

ug]{ JolQmx?sf] kmf]6f] ;lxtsf] 

gfdfjnL tof/L tyf k|sfzg 

115000.00 
  

4 
k|sf]k lkl8t /fxtsf]if  

110600.00   

5 dfgj ;++zfwg ljsf; ljz]if 

sf]if  
38000.00   

6 
jftfj/0f Jo:yfkg ljz]if sf]if 

10000.00   

7 ul/aL lgjf/0f tyf ;fdflhs 

kl/rfng ljz]if sf]if 
10000.00   

8 dlxnf tyf jfn ljsf; ljz]if 

sf]if  
10000.00   

9 cfsl:ds e]}}kl/ sfo{sf] nflu 

k"FhLut vr{ 
400000.00   

hDdf ? = 823600.00   

 


